In each case, give the length of arc ABC. ‘
e lesamene < \9

a) Radius =4 dm b) Circumference = 23.6 cm
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The straight section of a pool is 8 m
long. The semi-circle at each end has -
a diameter of 6 m. Calculate the
perimeter of the pool.
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",) In each case, determine the radius of the central angle based on the information you have < . 3
been given. /

a) A central angle of 50° mtercepts an arc of 12 cm.
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y b) A cnrde is lelded into S congruent arcs each measunng 21 mm.
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¢) A central angle of 145" intercepts an arc of 6.5 m. |
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d) An arc of 235° has a Iength of 7.5 dm :
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This circle has a circumference of 72 cm. Determine:
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